. The molecular formula of a given compound is C4H1o
. The empirical formula of the same compound would
be

A) C2Hs
C) CsHy
. The molecular formula of a given compound is CcH12

Oe. The empirical formula of the same compound
would be

A) Ci12H24012
C) CsHi1206

. A substance has an empirical formula of CHz and a
molar mass of 56 grams per mole. The molecular
formula for this compound is

A) CH2 B) C4He C) C4Hs D) CsHa

B) CH2
D) CsHio

B) C3HsO3
D) CH20

. The empirical formula of a compound is CH3. The
molecular formula of this compound could be

A) CH4 B) C2Hs4 C) C2He D) C3Hs

. What is the molecular formula of a compound that has
a molecular mass of 92 and an empirical formula of
NO2?

A) NO2 B) N204 C) N30O¢ D) N4Os

. What is the molecular formula of a compound that has

a molecular mass of 42 and an empirical formula of
CH2?

A) CH2 B) C:Hs4 C) CsHe D) C4Hn2

. What is the molecular formula of a compound with an

empirical formula of CH and a molecular mass of 78?

A) CeHeo B) C4Hio
C) C2H2 D) CH

. A compound has a molar mass of 90. grams per mole

and the empirical formula CH20. What is the
molecular formula of this compound?

A) CH20 B) C2H402
C) C3HeO3 D) C4HsO4

. A compound has a gram formula mass of 56 grams

per mole. What is the molecular formula for this
compound?

A) CH2 B) C2Hs C) C3He D) CsHs

10. A compound has an empirical formula of HCO2 and

a molecular mass of 90. grams per mole. What is the
molecular formula of this compound?

A) HCO B) H2C204
C) H4C40s D) HeCsO12




